

Multiplication par 10^{-1} (H)

Trouvez chaque produit.

$$59 \times 10^{-1} =$$

$$92 \times 10^{-1} =$$

$$44 \times 10^{-1} =$$

$$84 \times 10^{-1} =$$

$$70 \times 10^{-1} =$$

$$97 \times 10^{-1} =$$

$$99 \times 10^{-1} =$$

$$24 \times 10^{-1} =$$

$$4 \times 10^{-1} =$$

$$35 \times 10^{-1} =$$

$$35 \times 10^{-1} =$$

$$7 \times 10^{-1} =$$

$$82 \times 10^{-1} =$$

$$66 \times 10^{-1} =$$

$$25 \times 10^{-1} =$$

$$40 \times 10^{-1} =$$

$$33 \times 10^{-1} =$$

$$84 \times 10^{-1} =$$

$$18 \times 10^{-1} =$$

$$51 \times 10^{-1} =$$